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yo = 0

y1 = 1.5 m

v1 = 10 m/s
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yo = 0

y1 = 1.5 m

v1 = 10 m/s

?-<"

y2 =      y1      +        v1,y         !t( )   + 1
2

        ay           !t( )2

    = 1.50 m( ) + 10.0 m/s( ) .200 s( ) + 1
2

"9.80 m/s2( ) .200 s( )2

    = 3.30 m

y3 = y1 + v1,y !t( ) + 1
2

ay !t( )2

   "    4.00 m( ) = 1.50 m( ) + 10.0 m/s( ) !t( ) + 1
2

#9.80 m/s2( ) !t( )2

   "    0 = #2.50 m( ) + 10.0 m/s( ) !t( ) # 4.9 m/s2( ) !t( )2

                             !t( ) =  .292s or 1.75 s
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yo = 0

y1 = 1.5 m

v1 = 10 m/s

v2,y = v1,y + ay !t( )
      = 10.0 m/s( ) + "9.80 m/s2( ) .150 s( )
      = 8.53 m/s

vy,2( )2
= vy,1( )2

+ 2ay y2 ! y1( )
          = 10.0 m/s( )2 + 2 !9.80 m/s2( ) 1.25 m( ) ! 1.50 m( )( )
     "      vy,2 = 10.0 m/s( )2 + 2 !9.80 m/s2( ) !.25 m( )#$ %&

1/2

                       = 10.24 m/s
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B-<"

yo = 0

y1 = 1.5 m

v1 = 10 m/s

vtop,y( )2
= v1,y( )2

+ 2ay!y

          "    0 = 10.0 m/s( )2 + 2 #9.80 m/s2( ) ymax # 1.50 m( )( )
          "    ymax = 6.60 m


